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Quick Recap

1. Explain the mechanism of functioning of

stomata?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iQWhHAiyvtNr


Watch Video Solution

2. Monocots do not show the secondary

formation of tissues such as wood and cork.

Why?

Watch Video Solution

3. Explain the role of muscles in body

movements.

Watch Video Solution

https://dl.doubtnut.com/l/_iQWhHAiyvtNr
https://dl.doubtnut.com/l/_ghsPDnU5zP63
https://dl.doubtnut.com/l/_huuHGJmrWbkF


Test Your Concepts Fill In The Blanks

4. Explain the role of platelets in the clotting

of blood.

Watch Video Solution

5. Structural and functional units of nervous

system are neurons/nephron.

Watch Video Solution

https://dl.doubtnut.com/l/_huuHGJmrWbkF
https://dl.doubtnut.com/l/_jAcyVEUc9FlF
https://dl.doubtnut.com/l/_54q0is25TXln


1. The process of taking up permanent shape,

size and function by tissues is known as _______

Watch Video Solution

2. Girth of stem increases due to

Watch Video Solution

3. Large pores present on the bark which help

in aeration of plants are ______

https://dl.doubtnut.com/l/_OulPrJCjAelJ
https://dl.doubtnut.com/l/_sAdoyko0D5wc
https://dl.doubtnut.com/l/_xFyzefnZSPKg


Watch Video Solution

4. Epidermis of plant body is made up of ______

tissue.

Watch Video Solution

5. The tissue that helps in the transportation

of substances through semi-permeable

membrane is _____

Watch Video Solution

https://dl.doubtnut.com/l/_xFyzefnZSPKg
https://dl.doubtnut.com/l/_kg2YDQQCy1wq
https://dl.doubtnut.com/l/_tk4yi0ppPR8j


6. The leaf bases of onion contain ______

tissues.

Watch Video Solution

7. Phloem is a complex tissue for ______ of

organic substances.

Watch Video Solution

https://dl.doubtnut.com/l/_tk4yi0ppPR8j
https://dl.doubtnut.com/l/_6xF4CZ3U3Yxk
https://dl.doubtnut.com/l/_WevCQBFmfNP5


8. Function of companion cells is

Watch Video Solution

9. The origin of cork cambium is from ______

Watch Video Solution

10. Sclereids are also known as _____

Watch Video Solution

https://dl.doubtnut.com/l/_JoaODvkmWs7O
https://dl.doubtnut.com/l/_REiYffjld3BU
https://dl.doubtnut.com/l/_hQ6ziaLzgRAa


11. In plants _________ is a dead mechanical

tissue.

Watch Video Solution

12. Single-layered cells present in the outer

layer as surface tissue in plants is ______

Watch Video Solution

https://dl.doubtnut.com/l/_aFp1Bmjj1gJ4
https://dl.doubtnut.com/l/_0GLhQHMtf2OW


13. Minute openings present on undersurface

of leaves are known as _______

Watch Video Solution

14. Write the adaptation in aquatic plants due

to which 

leaves can float on the surface of water.

Watch Video Solution

https://dl.doubtnut.com/l/_GCvVcpLEHJNq
https://dl.doubtnut.com/l/_adN1yEUZ5MQn


15. Name the tissue which provides mechanical

strength to the plant organs.

Watch Video Solution

16. The epithelial tissue present in the

intestine that increases surface area is ________

Watch Video Solution

17. Alveoli of lungs are lined by

https://dl.doubtnut.com/l/_HOCOdfuEk3bi
https://dl.doubtnut.com/l/_DguNF302A6wL
https://dl.doubtnut.com/l/_0oi2xG2u5pTZ


Watch Video Solution

18. The tissue that fixes the skin with the

muscle is _______

Watch Video Solution

19. Type of cartilage present in epiglottis is

_____

Watch Video Solution

https://dl.doubtnut.com/l/_0oi2xG2u5pTZ
https://dl.doubtnut.com/l/_NGn6yQROjjlH
https://dl.doubtnut.com/l/_0tXXbhkm87m1
https://dl.doubtnut.com/l/_2DKjyt5ipQsV


20. Presence of ______ discs is the characteristic

feature of cardiac muscle.

Watch Video Solution

21. The muscles showing slow and prolonged

contractions are ______

Watch Video Solution

https://dl.doubtnut.com/l/_2DKjyt5ipQsV
https://dl.doubtnut.com/l/_JIG18mdXx6Qe


22. _______ are the sites of functional contact

between neurons.

Watch Video Solution

23. Epithelial tissue made up of many layers is

______

Watch Video Solution

24. ______ tissue is found around blood vessels.

https://dl.doubtnut.com/l/_ngJmT7q7CYE0
https://dl.doubtnut.com/l/_8uakZ64PTIld
https://dl.doubtnut.com/l/_qhSvq9KZx1XC


Watch Video Solution

25. _____ are elongated cells present in

muscular tissue.

Watch Video Solution

26. The muscles which are immune to fatigue

are _____

Watch Video Solution

https://dl.doubtnut.com/l/_qhSvq9KZx1XC
https://dl.doubtnut.com/l/_ADYGev3TW3HC
https://dl.doubtnut.com/l/_MSeXg47d7RDt
https://dl.doubtnut.com/l/_TBxJRBFfCRcz


Test Your Concepts Select The Correct

Alternatives

27. _____ is the special property of muscular

tissue.

Watch Video Solution

28. Neuron has branched process called _______

and single long process called _______

Watch Video Solution

https://dl.doubtnut.com/l/_TBxJRBFfCRcz
https://dl.doubtnut.com/l/_MNh4fzFfgX60


1. Identify the growth that occurs by the

activity of intercalary meristems.

A. Growth in width

B. Growth in girth

C. Linear growth

D. All of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ud5X5T1zRJkr
https://dl.doubtnut.com/l/_wPqQleJdIbaU


2. All the cells of young embryo are:

A. cork cells

B. collenchymatous

C. meristematic

D. sclerenchymatous

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wPqQleJdIbaU


3. The connective tissue in which the matrix is

not secreted by its component cells is

A. Lymph

B. Bone

C. Blood

D. Ligament

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HIVDaNhV5BtV
https://dl.doubtnut.com/l/_AXif3h11xVfi


4. Identify the epithelial tissue found in

respiratory tract.

A. Cuboidal

B. Ciliated columnar

C. Squamous

D. Glandular

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_AXif3h11xVfi


5. Identify the tissue that fills space inside the

organs and supports internal organs.

A. Adipose tissue

B. Muscular tissue

C. Areolar tissue

D. Blood

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cnkiazL6fxrO
https://dl.doubtnut.com/l/_HnnoW9nQgs3X


6. Identify the tissue which is strong and non-

flexible.

A. Cartilage

B. Bone

C. Tendon

D. Muscle

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_HnnoW9nQgs3X


7. The tissue that attaches the eye balls to the

bones is ________

A. cartilage

B. tendons

C. ligaments

D. nerves

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_WglBVB2hEcNu
https://dl.doubtnut.com/l/_d0ao5JaFvL5q


8. A person met with an accident in which two

long bones of hand were dislocated. Which

among the following may be the possible

reason ?

A. Tendons

B. Skeletal muscles

C. Ligaments

D. Areolar tissue

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_d0ao5JaFvL5q


9. The space between the muscle cell and

nerve terminal is called _____

A. tendon junction

B. cartilage junction

C. neuromuscular junction

D. ligament junction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_d0ao5JaFvL5q
https://dl.doubtnut.com/l/_pkcbKfZI4tqL


10. White fibrous connective tissue which can

with stand stretch from several directions is

found in _______

A. tendons

B. trachea

C. valves of heart

D. nasal septum

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_xgkSAQFpMXJt


11. Identify the white blood cells which

increase during allergy.

A. Monocytes

B. Platelets

C. Neutrophils

D. Eosinophils

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_8dQqy3Bn6HB6
https://dl.doubtnut.com/l/_E9sVgnJdn5Lb


12. The tissues present in tendons are ______

A. striated voluntary muscle

B. smooth and striated muscle

C. cardiac and smooth muscle

D. smooth and involuntary muscle

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_E9sVgnJdn5Lb


13. Skeletal muscles show which of the

following characteristics. 

(i) richly vascular 

(ii) striped 

(iii) voluntary 

(iv) spindle shaped

A. (i),(iii)

B. (ii),(iii)

C. (i),(iv)

D. (i),(ii) and (iii)

https://dl.doubtnut.com/l/_XKNLaugoZHDZ


Answer: D

Watch Video Solution

14. Glial cells in nervous tissue help in 

(i) Support 

(ii) Conducting impulses 

(iii) Nourishment 

(iv) Multiplication

A. (i),(ii)

B. (ii),(iii)

https://dl.doubtnut.com/l/_XKNLaugoZHDZ
https://dl.doubtnut.com/l/_Kga0GBmE4OMJ


C. (i),(iii)

D. (ii),(iv)

Answer: C

Watch Video Solution

15. Identify the functions of blood from the

following. 

(i) Transportation of nutrients 

(ii) Regulation of body temperature 

https://dl.doubtnut.com/l/_Kga0GBmE4OMJ
https://dl.doubtnut.com/l/_O2oxviofbZAd


(iii) Exchange of gases 

(iv) Protection against infections

A. (i),(iv)

B. (ii),(iii)

C. (iii),(iv)

D. (i),(ii) , (iii),(iv)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_O2oxviofbZAd


16. Which type of connective tissue is present

in blubber of whale and hump of camel ?

A. Areolar tissue

B. Cartilage tissue

C. Epithelial tissue

D. Adipose tissue

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_EpaLEUyaVq5A
https://dl.doubtnut.com/l/_WYfLvqQJKfgR


17. Identify the correct combination from the

following table . 

A. (i) and (iii)

B. (ii) and (iv)

C. (iii) and (iv)

D. (i) and (iv)

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_WYfLvqQJKfgR


Test Your Concepts Matching

1. Match the entries of Column 1 with those of

Column 2. 

Watch Video Solution

https://dl.doubtnut.com/l/_Nn9grNRnTNXI


Mastering The Concepts Knowledge And

Understanding

2. Match the entries of Column 1 with those of

Column 2. 

Watch Video Solution

https://dl.doubtnut.com/l/_1tKuBrXxVapV


1. Name the tissue associated with the

following plant products or parts. 

Jute

Watch Video Solution

2. Name the tissue associated with the

following plant products or parts. 

Rose wood

Watch Video Solution

https://dl.doubtnut.com/l/_Rwo79snIcOnq
https://dl.doubtnut.com/l/_69lbqIsGNld5


3. Name the tissue associated with the

following plant products or parts. 

Hard shells of fruits

Watch Video Solution

4. Name the tissue associated with the

following plant products or parts. 

Cork

Watch Video Solution

https://dl.doubtnut.com/l/_QX42z3VNNz50
https://dl.doubtnut.com/l/_8J8hG7ddjFtH
https://dl.doubtnut.com/l/_kxBV4k6f9lb4


5. What is the utility of tissues in multicellular

organisms ?

Watch Video Solution

6. Give differences between meristematic

tissue and permanent tissue.

Watch Video Solution

https://dl.doubtnut.com/l/_kxBV4k6f9lb4
https://dl.doubtnut.com/l/_tMDYzoNuLu75


7. Explain the cells responsible for conduction

of food to various parts of the plant.

Watch Video Solution

8. Write a note on the tissue system which

forms the main bulk of the plant body?

Watch Video Solution

https://dl.doubtnut.com/l/_8cB77LggsHH2
https://dl.doubtnut.com/l/_TTGzmQMS1zNF


9. What change do you notice in plant if the

stem tip is cut?

View Text Solution

10. Identify the figure given below and

mention how these parts are useful to the

plants. 

https://dl.doubtnut.com/l/_aaBe3UDFQA6R
https://dl.doubtnut.com/l/_P6aGGYxxkbHd


View Text Solution

11. Plants require less amount of energy. Give

reason.

Watch Video Solution

12. Give the role of collenchyma and

sclerenchyma in providing support to the

plant.

Watch Video Solution

https://dl.doubtnut.com/l/_P6aGGYxxkbHd
https://dl.doubtnut.com/l/_HTo9D7nqNIsv
https://dl.doubtnut.com/l/_44xjQhuunhLs


13. Give the organizational hierarchy in higher

animals.

Watch Video Solution

14. What is bone marrow? Give it functions.

Watch Video Solution

15. Write short note on tendons

https://dl.doubtnut.com/l/_44xjQhuunhLs
https://dl.doubtnut.com/l/_C0LeqEhj6YNr
https://dl.doubtnut.com/l/_b8vQtUGZCKb7
https://dl.doubtnut.com/l/_kDrpSAA6o4yr


Watch Video Solution

16. Write short note on ligaments

Watch Video Solution

17. Name the tissue corresponding to the

following features. 

Helps in translocation of food in plants.

Watch Video Solution

https://dl.doubtnut.com/l/_kDrpSAA6o4yr
https://dl.doubtnut.com/l/_hEQRsVACGsLM
https://dl.doubtnut.com/l/_fhjVzPErmWFO
https://dl.doubtnut.com/l/_i2EupHeXHWEP


18. Name the tissue corresponding to the

following features. 

Aids in transportation of hormones

Watch Video Solution

19. Observe the following figure and answer

the questions. 

https://dl.doubtnut.com/l/_i2EupHeXHWEP
https://dl.doubtnut.com/l/_GZYbIIICxDJ3


 


(a) Identify and label the parts A, B and C. 

(b) Give the functions of A. 

(c) Write a note on functions of B.

View Text Solution

https://dl.doubtnut.com/l/_GZYbIIICxDJ3


20. What happens to the bone material if the

bones are heated at high temperature?

Watch Video Solution

21. A bone is crushed to fine powder and put in

concentrated hydrochloric acid. How does this

affect the composition of bone?

View Text Solution

https://dl.doubtnut.com/l/_ssdqFW4e0jIh
https://dl.doubtnut.com/l/_wGlXyIvmKiye


22. Mention any four parts in human body

which are made up of cartilage.

Watch Video Solution

23. Differentiate between simple tissue and

complex tissue in animals. Write a note on the

types of epithelial tissue and mention their

location and function.

View Text Solution

https://dl.doubtnut.com/l/_apwE0M6L18vO
https://dl.doubtnut.com/l/_G1rwQgwkzaou
https://dl.doubtnut.com/l/_i2AUxnf6jen7


24. What is the role of areolar and adipose

tissues in human beings?

Watch Video Solution

25. Mention differences between cartilage and

bone.

View Text Solution

https://dl.doubtnut.com/l/_i2AUxnf6jen7
https://dl.doubtnut.com/l/_4IzYRd709tuL


Mastering The Concepts Application And

Analysis

26. How do cardiac muscles differ from

striated muscles in structure and function?

Watch Video Solution

1. Few cells of plant tissue are known as

collocytes. Give their characteristic features.

Watch Video Solution

https://dl.doubtnut.com/l/_IazAl2IuyD7h
https://dl.doubtnut.com/l/_IapnVzEsbNYu


2. What happens when the tree gets injured?

Name the structures responsible for that.

Watch Video Solution

3. Why thickness of the stem increases as age

advances in dicot plants?

Watch Video Solution

https://dl.doubtnut.com/l/_a6kyV4A7n87v
https://dl.doubtnut.com/l/_EVPmwQTm49lv


4. Why heartwood is considered more durable

than the sapwood?

Watch Video Solution

5. Sieve tubes do not have nuclei, why are they

considered as living cells?

Watch Video Solution

https://dl.doubtnut.com/l/_IMd2xjptipcD
https://dl.doubtnut.com/l/_HwSQECxV3fuX


6. Cuticle is absent on epidermis of roots. Give

reason.

Watch Video Solution

7. Vascular tissue is responsible for survival of

plants in terrestrial conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_1UH99EenuKDe
https://dl.doubtnut.com/l/_2oUC15RLQxz4


8. Epidermal cells secrete thick and waxy layer

in cactus. Why?

Watch Video Solution

9. Comment on the following statement. 

One of the characteristic features of plant cell

is the presence of vacuoles. But vacuoles are

absent in meristematic cells.

View Text Solution

https://dl.doubtnut.com/l/_eGs0l8xIPquf
https://dl.doubtnut.com/l/_OFOgmNJuTXBb
https://dl.doubtnut.com/l/_RZTU6WgNEprd


10. Why are the surfaces of woody plants

impermeable to water and gases?

Watch Video Solution

11. Young stems (twigs) bend but do not break.

Why?

Watch Video Solution

https://dl.doubtnut.com/l/_RZTU6WgNEprd
https://dl.doubtnut.com/l/_1VqE9ZP60yxn


12. Why are inte-rvertebral discs considered to

be the strongest form of cartilages?

Watch Video Solution

13. Mention the type of adipose tissue found

in infants. How does it differ from adipose

tissue of adults?

Watch Video Solution

https://dl.doubtnut.com/l/_0w9ZRR2D4Nqh
https://dl.doubtnut.com/l/_ndgksUUl5JPU


14. Why is spleen known as hematopoietic and

haemolytic tissue?

Watch Video Solution

15. Why do wrinkles appear on the skin with

growing age?

Watch Video Solution

https://dl.doubtnut.com/l/_56FheGzzxzAy
https://dl.doubtnut.com/l/_LaIYRu0XdcGM


16. Can a person survive if blood is completely

drained out from the body? Discuss.

Watch Video Solution

17. In old people knees make a bit crunching

sound when they change their posture from

sitting position to standing position. Why

does this happen?

View Text Solution

https://dl.doubtnut.com/l/_e6fzvQrifodV
https://dl.doubtnut.com/l/_iDCGGThDnneF
https://dl.doubtnut.com/l/_fKg1agcs5fBU


18. Why does our skin shiver during winter?

Watch Video Solution

19. There are 270 bones in the human body at

the time of birth. Does this remain same in

adult stage? Justify that.

Watch Video Solution

https://dl.doubtnut.com/l/_fKg1agcs5fBU
https://dl.doubtnut.com/l/_o7AdX0MxImBA


20. Why do we sweat when we do physical

exercise?

Watch Video Solution

21. Clusters of egg cells are not considered as

tissue. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_coZe3Owj54sB
https://dl.doubtnut.com/l/_HDmjJOL44KUX


22. Epithelial tissue in animals is non-vascular

but permeable. Give reason.

Watch Video Solution

23. Thin people feel colder than fat ones. Give

reason.

Watch Video Solution

https://dl.doubtnut.com/l/_x5JpFmKln3d2
https://dl.doubtnut.com/l/_i3PumRhPFKvU


24. Blood is known as fluid connective tissue.

Give reason.

Watch Video Solution

25. Cardiac muscles show rhythmic

contractions. Why?

View Text Solution

https://dl.doubtnut.com/l/_s9HvcYcrirz2
https://dl.doubtnut.com/l/_YgMJqnB2uwoc


26. Mitochondria are abundant in neurons.

Give reason.

Watch Video Solution

27. Bones become more and more fragile in

old age. Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_pEaiLczW1rws
https://dl.doubtnut.com/l/_2WfuAfnwUh0p


28. Camels can remain alive without food for

many days. Give reason.

Watch Video Solution

29. When we fall sick for a long period of time,

we become thin. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_d5scwLtdXirH
https://dl.doubtnut.com/l/_0FEMMCyR3H8U


30. When we do strenuous and unusual

physical activity, we are likely to get

inflammation in some body parts. Comment.

Watch Video Solution

31. The bones are harder and stronger than

cartilage. Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_iUcpzunUgbHp
https://dl.doubtnut.com/l/_WhHZT7QVU1Z7


32. The body of a baby is soft and becomes

harder as the baby grows. Justify.

Watch Video Solution

33. Plants have larger proportion of dead

tissue than animals. Justify this statement.

Watch Video Solution

https://dl.doubtnut.com/l/_dn7Y6UtWwvHd
https://dl.doubtnut.com/l/_NGRhYKJQUZJz


Mastering The Concepts Assertions And Reasons

34. Why does your ankle swell up when it is

sprained?

Watch Video Solution

1. Assertion (A): Lateral meristems help in

secondary growth of the plant body. 

Reason (R): Lateral meristems divide mostly

https://dl.doubtnut.com/l/_xLIx2eCNoQlm
https://dl.doubtnut.com/l/_uOftOJ8jrJJP


anti-clinally and increase the thickness of plant

organs.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

https://dl.doubtnut.com/l/_uOftOJ8jrJJP


Answer:

View Text Solution

2. Assertion (A): Parenchyma is responsible for

wound healing regeneration and grafting in

plants. 

Reason (R): Parenchyma can become a

meristem by differentiation and produce new

cells.

https://dl.doubtnut.com/l/_uOftOJ8jrJJP
https://dl.doubtnut.com/l/_kGxziP3Q6aXD


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_kGxziP3Q6aXD


3. Assertion (A): Aerenchyma is the chief

anatomical adaptation of hydrophytes. 

Reason (R): Aerenchyma helps the plant in the

exchange of gases and gives buoyancy.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

https://dl.doubtnut.com/l/_kGxziP3Q6aXD
https://dl.doubtnut.com/l/_8hPUMSAZ8qnb


Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

4. Assertion (A): Young stems and petioles of

dicots bend but do not break. 

Reason (R): Parenchymatous tissue containing

https://dl.doubtnut.com/l/_8hPUMSAZ8qnb
https://dl.doubtnut.com/l/_NwmpIX7as98y


chlorophyll and undergo photosynthesis is

chlorenchyma.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

https://dl.doubtnut.com/l/_NwmpIX7as98y


Answer:

Watch Video Solution

5. Assertion (A): Young stems and petioles of

dicots bend but do not break. 

Reason (R): Sclerenchymatous tissue gives

mechanical strength and rigidity to the plant.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

https://dl.doubtnut.com/l/_NwmpIX7as98y
https://dl.doubtnut.com/l/_CVdoSZT9TB3X


B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_CVdoSZT9TB3X


6. Assertion (A): Guttation occurs throughout

the day in plants. 

Reason (R): Stomata have guard cells which

open and close and help in transpiration.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

https://dl.doubtnut.com/l/_by90ZV5lIjUz


C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

7. Assertion (A): Complex tissues are made up

of more than one type of cells. 

Reason (R): Vascular tissues in plants are a

type of complex tissues.

https://dl.doubtnut.com/l/_by90ZV5lIjUz
https://dl.doubtnut.com/l/_SbxOKKYraD5d


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SbxOKKYraD5d


8. Assertion (A): Outgrowths of

parenchymatous cells on xylem vessels are

known as tyloses. 

Reason (R): Tyloses are selectively permeable

to water and nutrients.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

https://dl.doubtnut.com/l/_SbxOKKYraD5d
https://dl.doubtnut.com/l/_XR4LUZGXQDll


B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_XR4LUZGXQDll


9. Assertion (A): Tyloses are considered as

vascular plugs of plants. 

Reason (R): They block the lumen of old and

injured vessels.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

https://dl.doubtnut.com/l/_hrXql2MRMEQC


C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

10. Assertion (A): Seive tubes are made up of

sieve plates that help in conduction. 

Reason (R): Phloem parenchyma gives

mechanical support.

https://dl.doubtnut.com/l/_hrXql2MRMEQC
https://dl.doubtnut.com/l/_Qfkp6dxhWSZF


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Qfkp6dxhWSZF


11. Assertion (A): Lymph acts as a middle man

between blood and tissue fluid. 

Reason (R): Lymph is a colourless fluid.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

https://dl.doubtnut.com/l/_Qfkp6dxhWSZF
https://dl.doubtnut.com/l/_kFGS8kbiNIt2


C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

12. Assertion (A): Areolar tissue supports

internal organs and helps in tissue repair. 

Reason (R): Areolar tissue is the most widely

distributed tissue in the body of adults.

https://dl.doubtnut.com/l/_kFGS8kbiNIt2
https://dl.doubtnut.com/l/_xowXTSPsj6bS


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xowXTSPsj6bS


13. Assertion (A): External ear lobe shows high

degree of flexibility. 

Reason (R): Ear is made up of fibrous cartilage.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

https://dl.doubtnut.com/l/_xowXTSPsj6bS
https://dl.doubtnut.com/l/_TcPFCZqz19OJ


C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

View Text Solution

14. Assertion (A): Hyaline cartilage is the

weakest of all types of cartilages. 

Reason (R): Very thin collagen fibres are

present in matrix of hyaline cartilage.

https://dl.doubtnut.com/l/_TcPFCZqz19OJ
https://dl.doubtnut.com/l/_0uKBTLwPRHY3


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_0uKBTLwPRHY3


15. Assertion (A): Skeletal muscles show

rhythmic contractions and relaxations. 

Reason (R): Cardiac muscles are skeletal

muscles which are voluntary in function.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

https://dl.doubtnut.com/l/_0uKBTLwPRHY3
https://dl.doubtnut.com/l/_VD5yDqhnmDaZ


Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

View Text Solution

16. Assertion (A): The main body of neuron is

called dendron. 

Reason (R): Cell body of a neuron does not

contain nucleus.

https://dl.doubtnut.com/l/_VD5yDqhnmDaZ
https://dl.doubtnut.com/l/_B2fZk4Xvhn2p


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_B2fZk4Xvhn2p


17. Assertion (A): Epithelial tissue lining the

urinary bladder is transitional epithelium. 

Reason (R): Transitional epithelium helps in

changing the size of the bladder accordingly.

A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

https://dl.doubtnut.com/l/_B2fZk4Xvhn2p
https://dl.doubtnut.com/l/_avUQhvTF6rcb


Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

View Text Solution

18. Assertion (A): Blood is known as fluid

connective tissue. 

Reason (R): Blood cells are formed in bone

marrow.

https://dl.doubtnut.com/l/_avUQhvTF6rcb
https://dl.doubtnut.com/l/_z53hyIMYzB5c


A. Both Assertion and Reason are true and

Reason is the correct explanation for

Assertion.

B. Both Assertion and Reason are true, but

Reason is not the correct explanation for

Assertion.

C. Assertion is true and Reason is false.

D. Assertion is false and Reason is true.

Answer:

View Text Solution

https://dl.doubtnut.com/l/_z53hyIMYzB5c


Assessment Tests Select The Correct Alternatives

1. Meristamatic tissue is absent at the tips of

A. roots

B. stem

C. leaves

D. branches

Answer:

https://dl.doubtnut.com/l/_z53hyIMYzB5c
https://dl.doubtnut.com/l/_2pGpv2zA31Lj


Watch Video Solution

2. The tissue having high water holding

capacity is:

A. chlorenchyma

B. collenchyma

C. fibres

D. tracheids

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_2pGpv2zA31Lj
https://dl.doubtnut.com/l/_iYFGhn4N7nXK


3. Identify the vascular tissue mostly made up

of dead cells.

A. Chlorenchyma

B. Xylem

C. Parenchyma

D. Phloem parenchyma

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_iYFGhn4N7nXK
https://dl.doubtnut.com/l/_nMq6lNJnqrMG


4. Areolar connective tissue connects:

A. bone with bone

B. bone with muscle

C. fat with muscle

D. integument with muscle

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_AxngcmYYkI0i


Assessment Tests Matching

5. Trachea is made up of ______ tissue.

A. bone

B. muscle

C. cartilage

D. adipose

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_SxjXH4Nd6bNK


Assessment Tests True Or False

1. Match the entries of Column 1 with those of

Column 2. 

Watch Video Solution

https://dl.doubtnut.com/l/_Zvs894s8ClzT
https://dl.doubtnut.com/l/_wyvZV5fWtrLx


1. Meristematic tissues are formed from

permanent tissues.

Watch Video Solution

2. Meristematic cells are present in bark

region.

Watch Video Solution

3. Apical meristems help in increasing the

girth of the plant.

https://dl.doubtnut.com/l/_wyvZV5fWtrLx
https://dl.doubtnut.com/l/_5vT28J4m5frq
https://dl.doubtnut.com/l/_VaKjzosdftZD


Watch Video Solution

4. Old and matured cells are known as

meristematic cells.

Watch Video Solution

5. In tender plants, the turgid sclerenchyma

gives mechanical support.

Watch Video Solution

https://dl.doubtnut.com/l/_VaKjzosdftZD
https://dl.doubtnut.com/l/_J4ksiVdq2XLy
https://dl.doubtnut.com/l/_GLexi3drxcTr
https://dl.doubtnut.com/l/_zYkj7H8Ow7lE


6. The tissue having large air cavities and helps

in buoyancy is chlorenchyma.

Watch Video Solution

7. Xylem parenchyma helps in storage of

organic food materials such as resins and

latex.

Watch Video Solution

https://dl.doubtnut.com/l/_zYkj7H8Ow7lE
https://dl.doubtnut.com/l/_KIKjthJukdMU


8. Vascular tissue contains parenchyma and

collenchyma.

Watch Video Solution

9. Sclerenchyma consists of actively dividing

cells which help in growth.

Watch Video Solution

https://dl.doubtnut.com/l/_CbCuMO7suMJi
https://dl.doubtnut.com/l/_usG4dIkyCMmi


10. Epithelial cells are supplied with blood

vessels.

Watch Video Solution

11. Xylem helps in the conduction of food

material from roots to leaves.

Watch Video Solution

https://dl.doubtnut.com/l/_rwDimedSRe9v
https://dl.doubtnut.com/l/_oUzGKqc6KQbA


12. Minute openings present in the epidermis

of leaves are called cork cells.

Watch Video Solution

13. Nails, horns, claws and hoofs are developed

from bone.

Watch Video Solution

14. Red blood cells help in clotting of blood.

https://dl.doubtnut.com/l/_Dy3eEgeBKL4Y
https://dl.doubtnut.com/l/_rN9r0BBBTbCm
https://dl.doubtnut.com/l/_3prvFflde6y2


Watch Video Solution

15. Ducts of sweat glands are lined by stratified

epithelium.

Watch Video Solution

16. The interstitial fluid that passes through

the lymphatic vessels is lymph.

Watch Video Solution

https://dl.doubtnut.com/l/_3prvFflde6y2
https://dl.doubtnut.com/l/_L2akfy2KHM1J
https://dl.doubtnut.com/l/_LQFbRs8kOuuJ
https://dl.doubtnut.com/l/_zsSPCk9eQ6Ex


Assessment Tests Missing Correlated Terms

17. During secondary growth, periderm is

produced by the activity of phellogen.

Watch Video Solution

18. Neurons cannot undergo mitotic divisions.

Watch Video Solution

https://dl.doubtnut.com/l/_zsSPCk9eQ6Ex
https://dl.doubtnut.com/l/_YgNcTSiAG5bK


1. Write the missing correlated terms. 

Meristematic tissue: _____ : : vascular tissue :

conduction

Watch Video Solution

2. Write the missing correlated terms. 

Apical meristems : root tips :: ____ : cambium

Watch Video Solution

https://dl.doubtnut.com/l/_vSsQ9ymKyOgc
https://dl.doubtnut.com/l/_LxSkk1L5YmFt


3. Write the missing correlated terms. 

Undifferentiated cells : _____ : : differentiated

cells: permanent

Watch Video Solution

4. Write the missing correlated terms. 

Photosynthesis : chlorenchyma :: ______

aerenchyma

Watch Video Solution

https://dl.doubtnut.com/l/_lIL7f9H91rVf
https://dl.doubtnut.com/l/_ig0ZFd3E7Sa2
https://dl.doubtnut.com/l/_cOt07gaDQmLx


5. Write the missing correlated terms. 

Stomata : transpiration :: Sieve tubes : _____

Watch Video Solution

6. Write the missing correlated terms. 

Adipose : insulator :: Areolar : ______

Watch Video Solution

https://dl.doubtnut.com/l/_cOt07gaDQmLx
https://dl.doubtnut.com/l/_6S3SoGvZXEfV


7. Write the missing correlated terms. 

Cartilage : trachea : : _________ : tongue

Watch Video Solution

8. Write the missing correlated terms. 

Bone : skeletal tissue : : Lymph : _____

Watch Video Solution

https://dl.doubtnut.com/l/_QfGvgqxSLLr4
https://dl.doubtnut.com/l/_ZaU92MZHcI8m


Assessment Tests

9. Write the missing correlated terms. 

Flesh : ______ :: Trachea : cartilage

Watch Video Solution

10. Write the missing correlated terms. 

Muscular tissue: _____ :: Nervous tissue:

sensory

Watch Video Solution

https://dl.doubtnut.com/l/_eyReNdhlVzKW
https://dl.doubtnut.com/l/_DRHjWSSb98m7


1. Indicate the odd one from the following. 

Cellulose, lignin, pectin, collagen

Watch Video Solution

2. Indicate the odd one from the following. 

Parenchyma, chlorenchyma, collenchyma, cork

Watch Video Solution

https://dl.doubtnut.com/l/_AzRQ8u6EYQ8B
https://dl.doubtnut.com/l/_KW0eKPRRb4Os


3. Indicate the odd one from the following. 

Carrot, beetroot, Opuntia, radish.

Watch Video Solution

4. Indicate the odd one from the following. 

Sieve tubes, tracheids, vessels, xylem fibres

Watch Video Solution

https://dl.doubtnut.com/l/_KUqoaMepaPsA
https://dl.doubtnut.com/l/_fkBHm7gZWYXt


5. Indicate the odd one from the following. 

Trachea, pinna of ear, tip of nose, skull

Watch Video Solution

6. Indicate the odd one from the following. 

Brain, spinal cord, neurons, tendons

Watch Video Solution

https://dl.doubtnut.com/l/_PX0s8fYMs7yr
https://dl.doubtnut.com/l/_a3hmHD9zErDU


7. Indicate the odd one from the following. 

Cyton, tendon, axon, dendrites

Watch Video Solution

https://dl.doubtnut.com/l/_2xUA7PuDSp39

